
PROTECTIONISM
International Trade ->

exchange of gls between countries/across national boundaries 1 .Tariffs -> taxes on imports -> usually ad valorem (%)
-> gains from international trade -> when used to restrict imports -> ↑ effective when demand elastic

-> ↓ prices -> cheaper foreign raw materials -> when used to raise revenue- > ↑ effective when demand inelastic
-> wider range of consumer choice

-> consequences :

-> acquiring resources not available domestically 1. loss of consumer surplus -> DWL

-> economies of scale 2. more of the gls produced by less efficient domestic firms -> DWL due to

inefficiency
-> increased competition 3. less good supplied by foreign firms

-> more efficient allocation of resources- > competitive/absolute advantage 4. govt gain import tax revenue

-> source of foreign exchange 5. consumers pay higher prices -> DWL due toBefore Tariff
->↑ interdependence and reduced chance of hostilities ↑ prices

Domestic supplied = OQ,
-> economic growth Domestic demanded = 0Q2

Imports = Q
, Q2

Free Trade -> exchange of gls across national boundaries wort govt intervention
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3. Quotas ->
physical limits on quantity of a good that can be imported Trading Bloc ->

group of countries that have joined together +
agree to ↑ trade

1. loss of consumer surplus -> DWL between then and/or gain other economic benefits

2. more of the gls produced by less efficient domestic firms -> DWL due to
-> eg. EU , FTAA (free trade area of americas) ,

ASEAN (association of SE asian nations)inefficiency3. foreign producers sell less but at a ↑ price

Types of Economic Integration
at Pr-QzQz = Shortage 1. Preferential Trading Agreements

pria ↳quantity supplied (Stotal) <
-> trading bloc that gives special access to certain products from certain countries

S quantity demanded (D dom) 2. Free Trade AreasTotal (dom + foreign) --> putsIt pressure on the 3. Customs UnionT
-> usually achieved by eliminating/reducing tariffs
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5. Economic & Monetary Union
dom

ran

O iii q tity foreign revenue = f+ i => commonmarket,currency centrabankwhichmakedecisionsonmonetarypilis
-> credible currency used across a large zone = more stable
-> business confidence rises as less risk in trading
-> transaction costs eliminated as no currency conversions
-> interest rates determined by central bank -> countries cannot manage own inflation,

growth , and employment rates

4. Administrative Barriers -> if one country in union has difficulties -> have to follow zone decisions -> problematic
for individual1. Bureaucratic Barriers -> importing goods = lengthy + complex process -> ↑ cost of

-> many argue figcuntries
corting integration also needed as monetary is weak alone

2. Product Health , Safety , Environmental Standards -> stops entry of substandad
-> cannot alter XRs for individual export/import competitiveness

imports- > protects wellbeing of a population -> costs of joining are high
6. Complete Economic Integration

5
.

Embargoes -> a complete ban -> usually form of political punishment Trading Blocs

-> freer trade , larger markets , ↑ competition , If efficiency , ↑ choice
,

↓o price

Protectionism
-> firms encouraged to invest -> access to larger markets

-> protecting domestic employment (sunset/sunrise industries)
-> if free movement of labour -> ↑ employment opportunities

-> protecting economy from t cost labour
-> ↑ political cooperation & stability

-> avoid risk of over specialisation /overdependence)
-> efficient trade negotiations worldwide
-> trade creation

-> to counteract dumping -> discriminatory action against non-members can damage WTO negotiations
-> to protect product standards

-> countries will lose a degree of economic & political sovereignty
-> to raise govt revenue -> ↓ bargaining power
-> to correct a BOP deficit -> trade diversions
-> can raise domestic prices
-> ↓ choice for consumers
-> ↓ competition = inefficiency & ↓ innovation
->↓ comparative advantage

Trade Creation -> trade created when production of gls shifts from high cost

-> retaliation producer to a low cost producer -> ↑ overall trade

-> hinder economic growth
-> eg when new member joins a trading bloc

-> ↑ efficiency , ↑ output , ↑ international trade

Trade Diversion -> if formation of a trade bloc results in production of gls shifting
from nation w/ ↓ opp cost to ↑ opp cost

-> common in customs union -> nations eliminate trade barriers

between themselves , but maintain on other nationsEconomic Integration ->
eg EU

may have tariffs in place against countries w/ comparative
advantage in duction of goods traded w/in unionpro

Economic Integration -> deliberate ways in which countries agree to merge their economic -> allocative efficiency reduced

affairs
-> trade barriers decrease

-> fiscal + monetary policy becomes more closely aligned
-> interdependence grows

trainingWorld Trade Organisation (wro) ->

organisationthatsetrulesforgloberountries
-> aims

Globalisation & opening up of world trade - ↑ integration of national economies into global 1. Non-discrimination

-> often through trade 2. More open trade

3. Predictability & Transparency
Bilateral trade agreements -> trading agreements between two countries 4. Encouraging 'fair' competition

5. More benefits for developing countries

Multilateral Trade -> agreements relating to trade amongst multiple countries 6. Protection of the Environment
-> functions

1 . administer WTO trade agreements
2 . be a forum for trade negotiations
3. handle trade disputes among member countries

4. monitor national trade policies
5. provide technical assistance and training for developing countries

6. cooperate w/ other international organizations



Factors Limiting Effectiveness of WTO

I Unequal bargaining power of member countries -> views and aspirations of smaller
Managed Exchange Rate Systems I govt intervenes to influence price of currency but

not fixed or pegged
developing countries unheard

2. Trade Rules that are unfair for developing countries

3. GrowingH of trade deals negotiated outside the WTO pof GBP (rSD$) -> if XR goes out of band of

S'B
,

S2
fluctuation -> govt
intervenes
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3Exchange Rate -> value of one currency expressed in terms of another currency O gas of GBI

Exchange Rate System ->
any system which determines the conditions of the XR

Fixed Exchange Rate System -> where govts or central banks intervene to maintain High XR/ Strong Currency
the XR -> ↓ expensive imports

-> value of a currency is fixed or pegged to another currency or commodity -> downward pressure on inflation

ged v-> revaluation -> currency re-peg wards
-> ↑ competitionn. · domestic firms forced to + efficiency

-> devaluation ->
currency re-pegged downwards

-> damage to export industries as ↑ price
-> damage to domestic industries as imports cheaper

USD/GBP -> BOP deficit
-> AD ↓ as (X-M) ↓

Low XR/weak Currency (vice versal
-> greater employment in export + domestic industries

P

! = BOPSusa employment

I

I

q of GBP

q Reasons Govt may Intervene in XR Market

1↓ XR -> ↑ employment
2. ↑ XR -> ↓ inflation

3. maintain fixed XR to avoid economic uncertainty
4. avoid large fluctuations- > ↑ business confidence

Floating Exchange Rate System -> determined by supply and demand for a currency in
5. address a current account deficit

the market
-> depreciation -> ↓ in XR caused by ↑ in Supply or↓v in Demand for currency

6: 4 standards of living
-> appreciation -> Vice versa

Causes of Increase in Demand for a Currency How Govt may Intervene in XR Market
-> Speculators think that the value will rise in future so they buy now -> By using foreign currency reserves
-> ↑ in foreign demand for countries gls -> ↑ value by buying own currency tot demand for it

-> relatively cheaper due to inflation
->↓ value by buying other currencies to ↑ supply of it

t
->↑ in income of foreign consumers -> changing interes rates

->↑
-> go changein consume sis · value by↑ domestic IR to attract FDI -> ↑ demand

->↑ return on savings
->↓ value by ↓ domestic IR to reduce FDI -> ↑ supply as foreigners buy

more attractive currencies
-> domestic investment prospects improve (economic growth ,

business friendly policies)
-> ↑ in FDI and/ or portfolio investment

causes of Increase in Supply for a Currency Fixed XR
-> speculators think value will fall in future so they sell now -> provide stability + ↓ uncertainty -> encourages investment and trade

=> foreign/imported goods are denanda -> act as constraint upon domestic inflation

↑ saving abroad -> prevent speculation
-> overseas investments = ↑ attractive -> finding the 'right' pegging is hard

-> remittances rise
-> govt must have sufficient reserves to intervene + maintain

-> Central bank must make intervention a priority

pof GBP (rSD$) pof GBP (rSD$)
-> ↑ IR = ↑ D for currency however ↓ AD as contractionary MP

->
exchange rate controls may make it difficult for consumersa firms to
seek opportunities abroad
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Floating XR Current Account Surplus -> result of buying less imports than selling abroad
-> IRS free to be used to manage domestic economy (D-side policies) -> in free floating system (vs ample)A as ex

Outs has risen-> no need to keep↑ reserves of foreign currencies + gold -> demand for American exp

-> current account should self-correct
-> demand for dollars haswisen because ↑ USD required by foreigners

-> uncertainty for firms trading in international markets
-> ↓ supply for USD in FX markets

-> global random shocks (LOVID-19) & speculation may mean current account -> value of USD will rise (appreciate
deficit not automatically self-adjust

-> demand for US goods eventually fall as t price competitive
-> may worsen inflation- > imported inflation -> rise in ownership of American assets by foreigners

-> in fixed XR system

-> USA will face

moreprotectionismfromforeign countriesa financial account-> in SR surplus->
may

or by govt increasing its reserves by buying currency
-> in LR -> countries not happy w/ artificially low XR -> ↑ protectionismBALANCE OF PAYMENTS against USA

Balance of Payments
-> record of all transactions between residents of one country

and world over a given period of time (one year)

Credits ->
money inflows to an account Consequences of a CA Deficit

-> foreign exchange reserves used up to it financial account + regain balance w/ CA

Debits ->
money outflow from an account

-> inflow into financial/capital account -> when money spent abroad not matched. flows
back in form of FDI

-> FDI may pose a threat to economic sovereignty
-> ↓ in confidence may mean

1. Current Account foreign investors shift their assets elsewhere -> ↑ supply of currency (depreciation)

a
.

Balanceoftradeingoodrisib] usexports imports -> High 112 paid to attract FDI to keep XR from depreciating -> ↓ChI -> HAD

-> when country buys govt bonds/assets from country w/ CA deficit -> interest paid=

C Income/Net Investment Incomes -> profit , interest , dividends opp cost -> dowingrading of international credit ratings -> more difficult to borrow in
futured Current Transfers -> payments made w/ no exchange of gls

-> ↓ AD = ↓ employment = ↓ economic growth
-> grants ,

aid , abroad labour sending money home
-> may ↓ IR to HXR -> central bank unable to use IR to manage AD -> ↓ IR =

-> Total Balance = all components added up
↑ AD = inflationary pressure

2. Capital Account Why/How Do Countries Run a CA Surplus
a capital transfers-> migrants , debt forgiveness, transfers for capital assets 1 Structural Factors (long-term)
6 transaction in non-produced and non-financial assets -> land , rights to

-> long-run competitive advantage -> ↓ prices = ↑ demand for exports

natural resources , patents , copyrights , brand names -> HHs in countries w/ high savings ratio : · import expenditure lower

-> ↑ in price of exports when demand inelastic = ↑ export revenues

->↑ in productivity & R&D funding

2. Cyclical Factors (short-term)
-> depreciation of a country's currency = ↑ competitiveness

3. Financial Account ->↑ in foreign demand on country's main exports
9 direct investment -> purchase of long-term assets (long term interest) (FDI) -> cyclical improvements in global economy -> ↑ D & ↑ prices for exports
b portfolio investment -> stock + govt bond purchases (interest paid back at any

-> ↑ in net income a current transfers into country -> eg ↑ in profits/income
earned abroad

time) , saving account deposits
C reserve assets -> reserves of gold & foreign currencies

Current Account = Capital Account + Financial Account + NetWors & Consequences of a <A Surplus
-> BOP must always balance in theory Omissions -> if extra revenue received from exports is used to bolster reserves -> govt saving=

-> If BOP is (-) tive -> eventually the additional SGD spent on foreign goods ↓ potential consumption + ↓ potential investment

must be spent on Singapore goods
-> in short-run -> ↑AD as (X-M) + -> 4 GDP -> ↑ employment -> ↑ inflation

-> in reality -> 1000s of transactions :: NEO added to ensure they balance
-> in long-term

-> appreciation of currency -> imports cheaper -> ↓ inflation -> exports
more expensive harming domestic producers -> ↓ employment

-> protectionist measures from other countries attempting to reduce their deficits

Current Account Deficit -> result of buying more imports than selling abroad
A-> in free floating system (vs as example)

Orts-> demand for American exp has fallen
-> demand for dollars has fallen because ↓ USD required by foreigners Magnitude of CA deficit/surplus

I . Total value im USD
-> ↑ supply for USD in FX markets
-> value of USD will fall (depreciate) 2. placing in context of EDP ( % of GDP (

-> demand for US goods eventually rise as↑ price competitive
-> ability of country to pay

-> fall in ownership of Americann, etsass by foreigners
-> USA will more heavily protect its industries from foreign imports

stem-> infixedXR,
deficit may be covered by increases in capital & financial account

or by govt using up its reserves by selling currency boda
-> in LR -> reserves may run so in the end the XR will have to be

devalued as likely set too high



Correcting a Persistent CA deficit

1 . Expenditure Switching Policy -> govt encourage domestic consumers to consume

exports instead (protectionism)
-> SR not LR solution

2. Exchange Rate Policy -> currency depreciated/devalued by govt -> exports price I -

3. Expenditure Reducing posportsdemand -imports demandall
spending in an

economy (AD)
-> import consumption falls depending on MPM

fiscal -> ↑ taxes + ↓ govt Spending -> ↓ AD = cheaper exports
mentbut ↓ employ

monetary -> ↑ IRs + ↓ MS -> ↑ costs of borrowing -> ↓ C &

↓ I -> ↓ AD -> ↑ FDI -> ↑ Capital flows ->

appreciate currency
-> imports cheaper -> cycle

4. Earlylong-termSolutioneside Policies -> better than contractionary demand as costs

benefits
-> supply-side policies that It competitiveness

abroad
ation in gls w/ comparative advantage-> specialis

-> promote LR2 growth + ↑ AD

-> investing in education/healthcare , govt funding for

R& D
, investing in transport + infrastructure

Marshall Learner Condition (MLC)
-> why depreciation doesn't always ↑ CA position

-> depends on whether ↑ in export revenue > ↓ in import expenditure NOT

whether ↑ in exports > ↓ in imports
-> MLC tells us how successful a depreciation/devaluation of a currency's XR will

be as a means to improve (t deficit
CA-> a fall in XR will

reduce,delicitIFDEDexports PEDimportsS T-> eg. ifexportsPE will worse CA deficit
-> Demand becomes more price elastic over time :. MLC generally met in LR

J Curve Effect -> curve which illustrates (A deficit as XR is depreciated

In SR
Curve

-> country↓ currency value

to realise export price +

-> D for exports is price inelastic

-> total revenue from exports↓i
-> takes time for other countries

-> price of imports ↑
-> takes time to find new suppliers
-> S for exports is price inelastic

-> total import expenditure↑
-> CA position worsens

In LR
-> PED for X & M + -> satisfies MLC

-> ↑ export revenue &↓ import
expenditure

-> CA position improves


